BANKING AND FINANCIAL MANAGEMENT

First Paper : Financial Management

Time allowed : Three hours " Maximum Marks 100
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- Part-A
Define Financial Management. R Y&l &1 G BT
Give any four examples of fictitious assets.

qﬁqﬂwﬁﬁ$ﬁ€mmml

_ Give the ideal value and formula of quick ratio.

IR SO P e A T A QR |

When does flow of funds take place? ®ISi @I FdIE P9 B T?
What do you meanby Cash Inflows? IPE aﬁﬁ'l’ér Y A T A &7
_Give utility of financial leaverage: i ST B Saaf S |
What is qualitative concept of working capital?

Pridier ol B JoITd JERON 37 |

Give formula of E.O.Q. gl ST A T G o |

What is margin of safety? Give formula G&T AT TR 7 T AR |
What is conservative dividend policy? TR ATHRI Y w0 87

. Part-B :

Mehta Ltd\hasa current ratioof 4.5 : 1 and liquid ratio of 3 : 1. Ifits
inverforyisRs. 7 2,000, find out its current assets and current liabilities.

e e A I 4.5 ¢ 1 o R SR 3 ¢ 1 1R ST

72,000 ¥ dr e aie SRRl v e e ST AR
Box system. i S SR BT T B |

10% preference shares of Rs. 100 each at a
raising capital is 2%. Compute the cost of

Explain the Lock-
Ajay Ltd. issued 1000,
discount of 5%. Cost of

preference capital. |
oo ffies 1000 W 100 @@ 10 JRER GEIHR 3T 5
gﬁmﬁa‘gwﬁﬁmm%l@mﬁmﬁmzm%l

d;ﬁa?ramaslﬁa?rﬁiﬁl

What do you understand by Net Income Theory of capital structure?
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U GRE B Ug I e § 31T R GIHd €7
The sales of a firm were Rs. 80,000 in 2014 and Rs. 90,000 in 2015 and

" profit were Rs. 10,000 and Rs. 14,000 respectively. Calculate P/V ratio

and BE.P
T TR B T 20 14 T RA SR 80,000 T 2015 7. 90,000
& T @ HAY ©. 10.000 T§ Y 14,000 | ArF-E AFIA
(P/V ratio) T W9-R=3< g (B.E.P) & T0FT AR |

Part-C :
What do you understand by finance function? Discuss fully the func-
tions and responsibilities of a finance manager. |
ﬁamﬁ,mmﬂnm%?wﬁﬁwa%m@aﬁmﬁﬁﬁ
@1 Ul = i | |

_ Or

The following information of Mehta Ltd. are givenfor the year ended

31stMarch, 2016.

Stock turnover Sti_ms
Sales Rs. 4,00,000
- Gross$ profit ratio 20% of Sales
Creditors ' Rs. 25,000
Debtors ’ Rs. 40,000

- Closing stock is Rs. 10,000 more than the opening stock.

Calculate: .

'@ Average stock

@) Purchase ? .
(i) Average pdyment period
(iv) Averagé collection period

Jpipgenry e o1 e 2 Y 7 B e e R Y e

g TS E - N

= < Fd v 8T
[ 4,00,000
dbd oA A fast @1 20 ufawE
FeR 25,000
G U . ‘ 40,000
Wm%aﬁwmmﬁ 10,000 ST &1 :
@® 30 H
@ ™
Gi) raa P @
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17.

From the figures given below prepare a statement showing applica-

tion and sources of funds for the year 2014-15.

2014

Equity share capital 300,000
Preference share capital (8%) 2,00,000
Debenture 1,00,000
Reserve 1,10,000
Current Liabilities 80,000
. 7,90,000
Assets 31 March
. 2014
Fixed Assets (Net) 5,10,000
Investment 3Q,0(!)
Current assets 240,000
Discount on debentures ' 10,000
' ' 7,90,000

You are informed that duringthe year:

31March
2015
3,50,000
1,00,000
2.00,000
270,000
1:60,000
10,80,000
31 March
2015
6,20,000
80,000
375,000 -

- 5,000
1080000

(a) A machinewitha book=valueof Rs. 40,000 was sold for Rs. 2,500.
(b) Preference share rederfption was done at a premium of 15% on

31st March, 2015.

(¢) Dividend at 15% was paid on equity shares during the year

(d) Depreciation charged during the year Rs. 60,000.

e

frr gein@® SUR W I 2014—15 @& f¢ oW yare e
R . -
< 31 A 31 urd
2014 2015
Faar o9 9o 300000 350000
s 3 Gon (8%) 200000 100000
. FO-UF 100000 200000
5 110000 270000
e 80000 160000
790000 1080000
awfai 319 31ae
’ 2014 2015
ﬂmé‘ﬂ“lﬁ“ﬁ (=) 510000 620000
At 30000 80000
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240000 = 375000

106 i |

T U5 UX 92T 10000 5000
" 790000 1080000

BT T8 Yfra fFar o & 5 af & dRMA -

(30 WWWWH@HW 40,000 o1 P 5. 25,00 #
<1 TR |

(@) 31 W™ 2015 B ARHAF o 1 2T 1 5 gRwK NHIH R,

foparT T |
(@) a9 & ARF FETY S R 1 5 gl arie R 1|
(%) ™D IRFA . 60,000 T T IR AT
Or
What is meant by the term 'Leaverage'? What are its types? Explain in brief.
m%mwmﬁ%?%mﬁmmam%? ey A

gAY |
From the following information, extracted frém/the books of 2 mam-

18.
facturing company, compute the operatlonal cycle period and work-
ing capital required:
Period covered ‘ 365 days
Average period allowed by suppliers’ 16 days
| | Rs.
Average total debtors outstanding 48,000
Raw material consumption o 4,40000
Total production.cost | 10,00,000
Sales for the year 16,00,000
Total cost of sales ' 10,50,000
* Value of average stock maintained: | ‘ ’

Raw material 32,000
Waork-in-progress e - 3 5’000
Finished Goods N 26,000
Y% A T Qe @ a AeRie e S IREeH 9%
SAfe T AMATEF SN O B TR Sy
LR ERT 4 e :ﬂaﬁ 16 fae

i “ 5,
P SERT BT 3raa ar 48,000
W“Qa“ S 4,40,000
£~ SO oI 10.00,000
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AT TR S f 16,00,000

Rt &1 g @Fr o 10,50,000
3T B B I IR T '

ol HIdA % 32,000
AIfaeie BRf 35,000
TR AT 26,000

Or

Explain the meaning of inventory control and explains its different
techniques. '

AEE RASI0L T 31 W R T2 S =T daibrehl < BRI
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